



Matrix Form of the Iterated Binomial Transforms

Sergio Falcor^{1*}

¹*Department of Mathematics, University of Las Palmas de Gran Canaria, 35017-Las Palmas de Gran Canaria, Spain.*

Author's contribution

The sole author designed, analyzed and interpreted and prepared the manuscript.

Article Information

DOI: 10.9734/BJMCS/2016/25730

Editor(s):

(1) Feyzi Basar, Department of Mathematics, Fatih University, Turkey.

Reviewers:

(1) Octav Olteanu, University Politehnica of Bucharest, Romania.

(2) Naim Tuglu, Gazi University, Turkey.

(3) Lexter R. Natividad, Central Luzon State University, Philippines.

(4) Mustafa Bahsi, Aksaray University, Turkey.

Complete Peer review History: <http://sciencedomain.org/review-history/15177>

Received: 17th March 2016

Accepted: 19th April 2016

Published: 27th June 2016

Original Research Article

Abstract

In a previous paper, we have studied the Binomial transforms of the k -Fibonacci sequences and later we have studied the iterated Binomial transforms of these sequences. Now we study the matrix form of these four different binomial transforms of integer sequences in such a way that we can find a relation between the terms of the transformed sequence and the terms of the initial sequence. In this form we do not need to find the initial terms of the transformed sequence to find the following term from the application of the corresponding recurrence equation. Later we will apply the obtained results to the particular case of the k -Fibonacci sequence.

Keywords: Binomial Transforms; Recurrence equation; Pascal matrix; k -Fibonacci numbers.

MSC 2000: 15A36, 11C20, 11B39.

1 Introduction

In the mathematical literature there are different generalizations of the classical Fibonacci sequence [1, 2]. In this paper we will use the definition of the k -Fibonacci sequence showed in [3, 4]: for

**Corresponding author: E-mail: sergio.falcon@ulpgc.es;*

a given integer number k , we define the k -Fibonacci sequence $F_k = \{F_{k,n}\}_{n \in \mathbf{N}}$ by mean of the recurrence relation

$$F_{k,n+1} = k F_{k,n} + F_{k,n-1} \text{ for } n \geq 1 \quad (1.1)$$

with the initial conditions $F_{k,0} = 0$, $F_{k,1} = 1$.

According to this definition, the general expression of the first terms of the k -Fibonacci sequence is $F_k = \{0, 1, k, k^2 + 1, k^3 + 2k, k^4 + 3k^2 + 1, \dots\}$. In the particular case of $k = 1$ the classical Fibonacci sequence $F_1 = F = \{0, 1, 1, 2, 3, 5, 8, \dots\}$ is obtained while for $k = 2$ we get the known Pell sequence $F_2 = P = \{0, 1, 2, 5, 12, 29, \dots\}$.

The characteristic equation corresponding to the previous definition (1.1) is $r^2 - k r - 1 = 0$ which characteristic positive root is $\sigma_k = \frac{k + \sqrt{k^2 + 4}}{2}$ and is known as Metallic Ratio [5]. Consequently, the well known Binnet Identity has the form $F_{k,n} = \frac{\sigma_k^n - (-\sigma_k)^{-n}}{\sigma_k + \sigma_k^{-1}}$.

A combinatorial formula to calculate the general term of the k -Fibonacci sequence is [3, 4, 6]:

$$F_{k,n} = \sum_{i=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n-1-i}{i} k^{n-1-2i}.$$

Finally, the generating function of the k -Fibonacci numbers is

$$f_k(x) = \frac{x}{1 - kx - x^2}.$$

On the other hand, the Pascal matrix is the infinite lower triangular matrix containing the binomial coefficients as its entries $P = \left(\binom{i-1}{j-1} \right)$ for $i, j = 1, 2, \dots$, and where i indicates the row and j is the column, and taking into account if $r > m$, then $\binom{m}{r} = 0$. Consequently, the Pascal matrix has the form

$$P = \begin{pmatrix} 1 & & & & & \\ 1 & 1 & & & & \\ 1 & 2 & 1 & & & \\ 1 & 3 & 3 & 1 & & \\ 1 & 4 & 6 & 4 & 1 & \\ \vdots & \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix}$$

At last, the binomial transforms have been defined and studied in [7, 8, 9, 10, 11], whereas in [6, 12] they have been applied to the k -Fibonacci sequences getting the transformed sequences whose general terms are generated in the form that we indicate in the sequel:

- Binomial Transform: the terms of the binomial transformed sequence $B_k = \{b_{k,n}\}$ are defined by the combinatorial formula $b_{k,n} = \sum_{i=0}^n \binom{n}{i} F_{k,i}$ and verify the recurrence relation $b_{k,n+1} = (2+k)b_{k,n} - k b_{k,n-1}$ with $b_{k,0} = 0$ and $b_{k,1} = 1$.

The recurrence relation of this relation is $r^2 = (2+k)r - k \rightarrow r^2 - (2+k)r + k = 0 \rightarrow r = \frac{(2+k) \pm \sqrt{k^2 + 4k + 4 - 4k}}{2} = \frac{k \pm \sqrt{k^2 + 4}}{2} + 1$. If s_b is the positive characteristic root and $\sigma = \frac{k + \sqrt{k^2 + 4}}{2}$ is the positive characteristic root of the recurrence relation of the definition (1.1), then $s_b = \sigma + 1$.

In [6] is proven the generating function of the transformed sequence is $b(k, x) = \frac{x}{1-(k+2)x+kx^2}$

- *k*-Binomial Transform: the terms of the *k*-binomial transformed sequence $W_k = \{w_{k,n}\}$ are defined by the combinatorial formula $w_{k,n} = \sum_{i=0}^n \binom{n}{i} k^n F_{k,i}$ and verify the recurrence relation $w_{k,n+1} = (2+k)kw_{k,n} - k^3w_{k,n-1}$ with $w_{k,0} = 0$ and $w_{k,1} = k$. If s_w is the positive characteristic root of the recurrence relation $r^2 = (2+k)r - k^3$, then $s_w = (\sigma + 1)k$, where $\sigma = \frac{k+\sqrt{k^2+4}}{2}$. Finally, the generating function of the *k*-binomial transformed sequence is [6] $w(k, x) = \frac{kx}{1-(k^2+2k)x+k^3x^2}$
- Rising *k*-Binomial Transform: the terms of the rising *k*-binomial transformed sequence $R_k = \{r_{k,n}\}$ are defined by the combinatorial formula $r_{k,n} = \sum_{i=0}^n \binom{n}{i} k^i F_{k,i}$ and verify the recurrence relation $r_{k,n+1} = (k^2 + 2)r_{k,n} - r_{k,n-1}$ with $r_{k,0} = 0$ and $r_{k,1} = k$. If s_r is the positive characteristic root of the recurrence relation $r^2 = (k^2 + 2)r - 1$, then $s_r = k\sigma + 1$ and its generating function is [6], $r(k, x) = \frac{kx}{1-(k^2+2)x+x^2}$
- Falling *k*-Binomial Transform: the terms of the falling *k*-binomial transformed sequence $F_k = \{f_{k,n}\}$ are defined by the combinatorial formula $f_{k,n} = \sum_{i=0}^n \binom{n}{i} k^{n-i} F_{k,i}$ and verify the recurrence relation $f_{k,n+1} = 3kf_{k,n} - (2k^2 - 1)f_{k,n-1}$ with $f_{k,0} = 0$ and $f_{k,1} = 1$. If s_f is the positive characteristic root of the recurrence relation $r^2 = 3kr - (2k^2 - 1)$, then $s_f = \sigma + k$ being its generating function [6] $f(k, x) = \frac{x}{1-3kx+(2k^2-1)x^2}$

For $k = 1$, these four transforms are applied on the classical Fibonacci sequence and generate the same sequence $\{0, 1, 3, 8, 21, \dots\}$, listed as A001906 in [13], OEIS from this point on.

We now turn to consider the matrix form of the previous four binomial transforms applied to a general integer sequence and then distinguish the results to the case of the *k*-Fibonacci sequence.

2 Matrix Form of the Binomial Transform

Let the integer sequence $A = \{a_0, a_1, a_2, \dots\}$ be. If we apply the definition of Binomial Transform to this sequence, obtain the transformed sequence

$$B = \{b_n\} \text{ where } b_n = \sum_{i=0}^n \binom{n}{i} a_i.$$

In the particular case of the *k*-Fibonacci sequence, the sequences $B_k = \{b_{k,n}\} = \sum_{i=0}^n \binom{n}{i} F_{k,i}$ are obtained and from these, the unique indexed in OEIS are:

$$B_1 = \{0, 1, 3, 8, 21, \dots\} : A001906, \quad B_2 = \{0, 1, 4, 14, 48, \dots\} : A007070 \cup \{0\}$$

$$B_3 = \{0, 1, 5, 22, 95, \dots\} : A116415 \cup \{0\}, \quad B_4 = \{0, 1, 6, 32, 168, \dots\} : A084326$$

Binomial Transform of the integer sequence A can be expressed in matrix form as $B = P \cdot A$, being B the transformed binomial matrix $B = \{b_0, b_1, b_2, \dots\}^T$ whereas A is the column matrix of the

sequence, $A = (a_0, a_1, a_2 \dots)^T$. Consequently

$$B = \begin{pmatrix} 1 & & & & & \\ 1 & 1 & & & & \\ 1 & 2 & 1 & & & \\ 1 & 3 & 3 & 1 & & \\ 1 & 4 & 6 & 4 & 1 & \\ \vdots & \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix} \cdot \begin{pmatrix} a_0 \\ a_1 \\ a_2 \\ a_3 \\ \vdots \end{pmatrix}$$

This formula shows that the Binomial Transform is well defined by the Pascal matrix P .

But the Binomial Transform one can be applied to the obtained sequence again and we obtain the sequence $B^{(2)}$ that, evidently will be determined by the matrix P^2 . Consequently it is $B^{(2)} = P^2 \cdot A$, and if we apply iteratly this process, will obtain the successive transformed binomial sequences of the integer sequence A which matrix equation is $B^{(r)} = P^r \cdot A$.

P^r is the r -th power of the Pascal matrix P and their entries $p_{i,j}^{(r)}$ verify the relation $p_{i,j}^{(r)} = \binom{i-1}{j-1} r^{i-j}$ [14, 15].

So, any element of the sequence obtained by mean of the r -th Binomial Transform of the integer sequence A can be expressed in function of the elements of this same sequence by mean of the formula

$$b_i^{(r)} = \sum_{j=1}^i \binom{i-1}{j-1} r^{i-j} a_{j-1}, \quad r \geq 1 \quad (2.1)$$

In this form, it is not necessary to find the succesive transformed binomial sequences to find the transformed sequence of order r of an integer sequence but every element can be found directly using this formula (2.1).

If A is the k -Fibonacci sequence, the binomial transformed sequence of order r would take the form

$$B_k^{(r)} = \{b_i^{(r)}\} = \left\{ \sum_{j=1}^i \binom{i-1}{j-1} r^{i-j} F_{k,j-1} \right\}, \quad r \geq 1$$

For instance, if we want to find the 5-th Binomial Transform of the 3-Fibonacci sequence $F_3 = \{0, 1, 3, 10, 33, 109, \dots\}$ we find firstly P^5 using the formula (2.1) and obtain (for $n = 6$)

$$P_6^5 = \begin{pmatrix} 1 & & & & & \\ 5 & 1 & & & & \\ 25 & 10 & 1 & & & \\ 125 & 75 & 15 & 1 & & \\ 625 & 500 & 150 & 20 & 1 & \\ 3125 & 3125 & 1250 & 250 & 25 & 1 \end{pmatrix}.$$

Multiplying this matrix by the sequence F_3 we obtain its 5-th transformed binomial which first terms are $B_3^{(5)} = \{0, 1, 13, 130, 1183, 10309 \dots\}$. This sequence is not indexed in OEIS.

In [12] one proves that the terms of the sequence $B_k^{(r)}$ verify the recurrence relation $b_{k,n+1}^{(r)} = (2r+k)b_{k,n}^{(r)} - (r^2+rk-1)b_{k,n-1}^{(r)}$ with $b_{k,0} = 0$, $b_{k,1} = 1$.

We must say that in this paper, and given the complexity of the used matrices, we have used the program MATHEMATICA to find this matrix as others that come later.

3 Matrix Form of the k -Binomial Transform

Let K be the diagonal matrix formed by the successive powers of k , that is, $K = \text{DiagonalMatrix}\{k^0, k^1, k^2, \dots, k^{n-1}\}$. Then, the k -Binomial Transform of the integer sequence A is the sequence $W_k = K \cdot P \cdot A$.

By the same reason that in the preceding section, as the k -Binomial Transform is fixed by the matrix $K \cdot P$, the sequence obtained by mean of the iterated application of this transform is fixed by the formula $W_k^{(r)} = (K \cdot P)^r \cdot A$. So, the r -th application of the k -Binomial Transform is fixed by the matrix $W_k^r = (K \cdot P)^r$ which form we have found using the program MATHEMATICA and it is

$$W_k^r = \left(\binom{i-1}{j-1} k^{r(j-1)+i-j} \left(\frac{k^r-1}{k-1} \right)^{i-j} \right)$$

It is easy to apply this formula to the k -Fibonacci sequences, in such a way that if, for instance, we want to find the 6 first terms of the 4-Binomial Transform of order 3, we multiply the matrix

$$W_4^3 = \begin{pmatrix} 1 & & & & & \\ 84 & 64 & & & & \\ 7056 & 10752 & 4096 & & & \\ 592704 & 1354752 & 1032192 & 262144 & & \\ 49787136 & 151732224 & 173408256 & 88080384 & 16777216 & \\ 4182119424 & 15931883520 & 24277155840 & 18496880640 & 7046430720 & 1073741824 \end{pmatrix}$$

by the 4-Fibonacci sequence $F_4 = \{0, 1, 4, 17, 72, 305 \dots\}$ and we will obtain the sequence $W_4^{(3)} = \{0, 64, 27136, 9939968, 3550691328, 1262321745920 \dots\}$, that is, $W_4^{(3)} = 4^3 \{0, 1, 424, 155312, 55479552, 19723777280 \dots\}$.

The terms of the sequence $W^{(r)} = \{w_{k,n}^{(r)}\}$ verify the recurrence relation [12]

$$w_{k,n+1}^{(r)} = \left(k^{r+1} + 2 \frac{k^r-1}{k-1} k \right) w_{k,n}^{(r)} - \left(\frac{(k^r-1)(k^{r+1}-1)}{(k-1)^2} k^2 - k^{2r} \right) w_{k,n-1}^{(r)}$$

with $w_{k,0} = 0$, $w_{k,1} = k^r$.

4 Matrix Form of the k -Rising Binomial Transform

As in both previous sections, because the k -Rising Binomial Transform is fixed by the matrix $P \cdot K$, the sequence obtained by mean of the iterated application of this transform verifies that $R_k^{(r)} = (P \cdot K)^r \cdot A$. So, the r -th application of the k -Rising Binomial Transform is fixed by the matrix $(P \cdot K)^r$ which form is

$$(P \cdot K)^r = \left(\binom{i-1}{j-1} k^{r(j-1)} \left(\frac{k^r-1}{k-1} \right)^{i-j} \right)$$

For instance, the 5-th 2-Rising Binomial Transform of the 2-Fibonacci Sequence (Pell sequence), is the product of the matrix (for $n = 6$)

$$(P \cdot K)^5 = \begin{pmatrix} 1 & & & & & \\ 31 & 32 & & & & \\ 961 & 1984 & 1024 & & & \\ 29791 & 92256 & 95232 & 32768 & & \\ 923521 & 3813248 & 5904384 & 4063232 & 1048576 & \\ 28629151 & 147763360 & 305059840 & 314900480 & 162529280 & 33554432 \end{pmatrix}$$

by the sequence $F_2 = \{0, 1, 2, 5, 12, 29 \dots\}$ and we obtain the sequence

$$R_2^{(5)} = \{0, 32, 4032, 446560, 48521088, 5255815328 \dots\}, \text{ that is,} \\ R_2^{(5)} = 2^5 \{0, 1, 126, 13955, 1516284, 164244229 \dots\}.$$

The terms of the sequence $R^{(r)} = \{r_{k,n}^{(r)}\}$ verify the recurrence relation [12]

$$r_{k,n+1}^{(r)} = \left(k^{r+1} + 2\frac{k^r - 1}{k - 1}\right) r_{k,n}^{(r)} - \left(\frac{(k^r - 1)(k^{r+1} - 1)}{(k - 1)^2} - k^r\right) r_{k,n-1}^{(r)}$$

with $r_{k,0} = 0$, $r_{k,1} = k^r$.

5 Matrix Form of the k -Falling Binomial Transform

The k -Falling Binomial Transform is fixed by the matrix $F = K \cdot P \cdot K^{-1}$ and it is possible to find that applying r times the obtained sequence, this transform is determined by the matrix that corresponds to its n -th power and that has the form $F^r = (K \cdot P \cdot K^{-1})^r = \left(\binom{i-1}{j-1} k^{r(j-1)} \left(\frac{k^r - 1}{k - 1}\right)^{i-j}\right)$.

For instance, the 3-th 5-Falling Binomial Transform is fixed by the matrix

$$F_5^3 = \begin{pmatrix} 1 & & & & & & \\ 15 & 1 & & & & & \\ 225 & 30 & 1 & & & & \\ 3375 & 675 & 45 & 1 & & & \\ 50625 & 13500 & 1350 & 60 & 1 & & \\ 759375 & 253125 & 33750 & 2250 & 75 & 1 & \end{pmatrix}$$

and by multiplying it by the sequence $F_5 = \{0, 1, 5, 26, 135, 701 \dots\}$ causes the sequence $F_5^{(3)} = \{0, 1, 35, 926, 21945, 491201 \dots\}$

The terms of the sequence $F_k^{(r)} = \{f_{k,n}^{(r)}\}$ verify the recurrence relation [12]

$$f_{k,n+1}^{(r)} = (2r + 1)k f_{k,n}^{(r)} - ((r^2 + r)k^2 - 1)f_{k,n-1}^{(r)} \text{ with } f_{k,0} = 0, f_{k,1} = 1$$

We will conclude this paper indicating that, as it is obvious, if $k = 1$, the four binomial transforms are the same in all cases: $B_1^{(r)} = W_1^{(r)} = R_1^{(r)} = F_1^{(r)}$ for $r \geq 1$.

6 Conclusions

We have applied the four different Binomial Transforms to the k -Fibonacci numbers of iterated form and have obtained the transformed sequences. Only a few of these transformed sequences are indexed in OEIS. We have found the Binnet Identity for all these sequences as well the generating function and the binomial formula for the general term.

Competing Interests

Author has declared that no competing interests exist.

References

- [1] Lee G-Y, Lee SG, Shin HG. On the generalized Fibonacci matrix Q_K . Lineal Algebra Appl. 1997;251:73-88.
- [2] Lee G-Y, Kim J-S. The linear algebra of the generalized Fibonacci matrices. Linear Algebra Appl. 2003;373:75-87.
- [3] Falcon S, Plaza A. On the Fibonacci k -numbers. Chaos, Solitons & Fractals. 2007;32(5):1615-1624.
- [4] Falcon S, Plaza A. The k -Fibonacci sequence and the Pascal 2-triangle. Chaos, Solitons & Fractals. 2007;33(1):38-49.
- [5] Spinadel VW. The metallic means family and forbidden symmetries. Int. Math. J. 2002;2:279-288.
- [6] Falcon S, Plaza A. Binomial transforms of the k -Fibonacci sequences. Int. J. Nonlinear Sci. Numer. Simul. 2009;10(11-12):1527-1538.
- [7] Chen KW. Identities from the binomial transform. J. Number Theory. 2007;124:142-150.
- [8] Prodinger H. Some information about the binomial transform. Fibonacci Quart. 1994;32(5):412-415.
- [9] Spivey MZ, Steil LL. The k -binomial transforms and the Hankel transform. J. Integer Seq. 2006; 9: 1–19.
- [10] Bahşi M, Solak S. An application of hyperharmonic numbers in matrices. Hacettepe Journal of Mathematics and Statistics. 2014;43:19-27.
- [11] Bahşi M, Mezö I, Solak S. A symmetric algorithm for hyper-Fibonacci and hyper-lucas numbers. Annales Mathematicae et Informaticae. 2014;43:19-27.
- [12] Falcon S. Iterated binomial transforms of the k -Fibonacci sequences. British Journal of Mathematics & Computer Science. 2014;4(22):3135-3145.
- [13] Sloane NJA. The on-line encyclopedia of integer sequences; 2006.
Available: www.research.att.com/~njas/sequences/
- [14] Edelman A, Strang G. Pascal matrices. Americ. Math. Month. 2004;111(3):361-385
- [15] Helms G. Identities with binomials, Bernoulli - and other theoretical numbers.
Available: <http://go.helms-net.de/math/binomial/index>

© 2016 Falcor; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

<http://sciencedomain.org/review-history/15177>